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6:550) (81 @ kg )
pHE i miEH o2 = B Z B " =

S 228 RIS 65.3 300 21
<IN 467.0 40 28
JUH LA 253.5 1,323 36
LSHLA 121.2 689 245
TFELSHLA 186.7 1,200 361
=EAHLA 958.2 306 20
THLA 205.9 751 381
<55 25.0 80 20
FAALY 605.9 1,450 169
TIAYTAFA 115.5 188 20
F7>0 1,736.9 500 30
HIHS 26.1 65 20
TS HTH 52.4 30 20
FALY 27.5 6,028 1,010
G INY = 27.0 | 30,730 | 13,900 [50 %
XA 60.6 596 169
AX5T 476.7 1,050 26
sH= 107.2 4,000 150
G 148.5 | 16,900 1,111 [Go’ 2
S5+ hF/ A 26.7 480 250
ZILAA 399.7 600 289
ZILAA F%E 460.0 4,550 1,600 [Gn o

I 6,553.5




[f¥fa] (BT ¢ kg )

pHE i miEH o2 = B Z B " =
S 228 UL 7 59.6 450 382
7 U JAE 45.0 3,182 2,890 |5
=247 68.0 850 169
vFESHT 10,002.0 699 89
AFF<3 39.8 1,600 500

D
[ =]

1§ 16,767.9




(B : kg)

6:550)
pHE i miEH B = = 1B Z 1B " =
EEREE 78% |TU 28.3 335 46
ESX 102.5 2,129 300
AAFHLA 33.8 1,696 489
=N 94.2 539 20
<A A 45.0 1,179 100
HFHTS 34.9 61 20
8905 46.8 1,633 600
RZF 577.8 1,539 719
JEZHAN 51.2 170 20
SFIA 61.1 3,489 1,300
HY= 550.4 1,806 100
ARERiE 34% 2SR 18,206.5 597 70
MU 5% <A 51.0 1,089 356
B 2& Ry FHA 264.5 450 360
MGHEE 20,017.2




[;Efa] (BT ¢ kg )

pHE i miEH B = = 1B Z 1B " =
HE 228
EEXFE 78% |ESA 596.3 2,600 800
<A 60.7 2,000 400
R+ 194.3 1,800 1,000
<IF 19.1 1,500 600
iR 7% = 651.1 2,800 1,500

D
[ =]

1§ 1,521.5




